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Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Suppose the amount of data recorded in an organization is doubled every year. This increase is -
Answer ( Please select your correct option )
Linear -
p
Quadratic -
p
Logarithmic ~
®
~ EXponentlal Correct answer solved by hadi
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Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min) BI

IS the lowest level of detail or the atomic level of data stored in the warehouse.

EN

=

Answer ( Please select your correct option )

Cube -
=
‘

Virtual Cube ~
®

Aggregate -
A
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Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min) BI =

update/transaction

After implementing Change Data Capture, the advantage we have is that, data is able to be integrated and transformed

Finally data is able to be integrated and transformed "m-flight". Once the

=

Answer [ Please select your correct option )

In-flight Correct answer solved by hadi -
Cell N0:03228043306
Email: usmanraj20@gmail.com
Off-flight -
-~
Stored Data -
®
Over-flight -
~
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Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
 Iffits into memory, costs only one disk /O access to locate a record by given key. -

Answer ( Please select your correct option )

A Dense Index -

A Sparse Index -
P

An Inverted Index -
'S

None of These -
A
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Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min) BI

A dense indey, if fits into memonry, costs only disk IfO access to locate a record by given key.

=

=l

Answer ( Please select your correct option )

One Correct answer solved by hadi

' Cell N0:03228043306
Email: usmanraj20@gmail.com =

Two R
(ﬁ

Ig (n)
®

n -
(-h
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Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
,If too big and does not fit into memory, will be expensive when used to find a record by given key. -

Answer ( Please select your correct option )

A Dense Index -

A Sparse Index -
P

An Inverted Index -
'S

None of these -
A
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Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) BI 5
All datais of something real. -
I An Abstraction -
' akh magar
I A Representation dakh mag
payar se

Vwhich of the following option is true?

ase select your correct option )
Correct answer solved by hadi =
Cell N0:03228043306
Email: usmanraj20@gmail.com

Il Only -

Both | & |l -

None of | & I -
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Question No : § of 52 Marks: 1 (Budgeted Time 1 Min) BI =
In the Information Age, the learning organization is at a distinct disadvantage. This term means "impaired functioning." -
In the Information Age. the dysfunctional learning organization is at a distinct 4
disadvantage. The term dysfunctional means "impaired or abnormal functioning."
Answer ( Please select your correct option )
Functional -
(\
I Dysfunctional Correct answer solved by hadi =
Cell N0:03228043306
Email: usmanraj20@gmail.com
Purposeful ~
®
Serviceable -
(\
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Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) IEI =
|| Many DVY projects do not deliver to full potential because they treat data quality as a one-time undertaking as part of UAT. Here UAT stands for -

User Acceptance Testing -
- Uninterrupted Availability of Testing :
; Universal Acceptance Test :
> Universal Applied Test :
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Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) BI 5
NUMA stands for -

Non-uniform Memory Access (NUMA)
khair tu hai

Answer ( Please select your correct option )
Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com
Non-updateable Memory Architecture -
-~
New Universal Memory Architecture -
-
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Question No : 11 of 52 : Marks: 1 (Budgeted Time 1 Min) BI =
Parallelism can system performance on over-utilized systems or systemns with small /O bandwidth. ~
Word of caution
Parallelism can reduce system performance on over-utilized systems or systems with
small IO bandwidth. ™
An pur correct option )
Reduce -
Enhance =
o
Maintain -
®
Boost -
p
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Question No : 12 of 52 : Marks: 1 (Budgeted Time 1 Min) BI 5

=

There are many variants of the traditional nested-loop join. If the index is built as part of the query plan and subsequently dropped, itis called

If the index is built as part
of the query plan and subsequently dropped. it is called as a temporary index nested-loop join.

Answer ( Please select your correct option )

Naive nested-loop join
pa

Index nested-loop join
~

' i Te] Correct answer solved by hadi a
. Temporary index nested-loop join o K D

Email: usmanraj20@gmail.com

MNone of these
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Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min) BI =

Data mining evolve as a mechanism to cater the limitations of
data resources etc.

resources etc.

Data mining evolved as a mechanism to cater the limitations of OLTP systems to deal
massive data sets with high dimensionality, new data types, multiple heterogeneous data

systems to deal massive data sets with high dimensionality, new data types, multiple heterogeneous —

Answer ( Please select your correct option )

OLTF

OLAP

DSS

DWWH
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Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
In contrast to data mining, statistics is driven. -

kase mukhde se ‘
nazrein hataon .

Answer ( Please select your correct option )

Assumptlon Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com =
Knowledge -
p
Discovery ~
®
Database -
(\
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Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
IS the technigue in which existing heterogeneous segments are reshuffled, relocated into homogeneous segments. -
Clustering is the technique ‘
of reshuffling. relocating exiting segments in given data which is mostly
heterogeneous
so that the new segments have more homogeneous data items
Answer ect your correct option )

Aggregation -
-

Segmentation ~
@

Partitioning -
A
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Question No : 16 of 52

Marks: 1 (Budgeted Time 1 Min)

solved are clear and well understood.

ji karta tuje
dakhi jaon :P

A implementation approach is generally useful for projects where the technology is mature and well understood, as well as where the business problems that must be =

=l

Answer ( Please select your correct option )

Correct answer solved by hadi

O Cell N0o:03228043306
Email: usmanraj20@gmail.com

Bottorn Up -
~

Waterfall -
@

Spiral -
(\
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Question No : 17 of 52

Marks: 1 (Budgeted Time 1 Min) BI

Implementing a data warehouse requires integrated activities.

EN

=

Answer ( Please select your correct option )

Slackly -
=

Lethargically -
P

Tightly -

Loosely -
A
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Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min)

B

The Kimball's iterative data warehouse development approach drew on decades of experience to develop the

parde mah
rehne du :P

=

=

Answer ( Please select your correct option )

(ﬁ

Business Definition Lifecycle

Business Dimensional Lifecycle

Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com

Data Warehouse Dimension

OLAP Dimension
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Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
In DVWH project, it is assured that environment is similar to the production environment ~

Answer ( Please select your correct option )

Designing -
p

Development -

Analysis ~
c

Implementation -
p
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Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Fipeline parallelism focuses on increasing throughput of task execution, NOT on sub-task execution time. -

tuj mah hi rub
dikhta

Answer ( Please select your correct option )

Increasing
(-5

Decreasing Correct answer solved by hadi =
Cell N0:03228043306

Email: usmanraj20@gmail.com

Maintaining

MNone of these
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Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
The application development quality-assurance activities cannot be completed until the data is -
The application development quality-assurance activities cannot be completed until the ‘
data is stabilized

Answer ( Please select your correct option )

Stabilized -

Identified =
P

Finalized -
'S

Computerized -
A
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Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

=

One needs to slot the alternative tools into categories that allow for meaningful comparison in order to

To evaluate tools, you need to slot the alternative imto categories that allow for

meaningful comparison yaar parh lia

karo
Answer ( Please select your correct option )
L'| Evaluate Tools Correct answer solved by hadi -
Cell N0:03228043306
C Email: usmanraj20@gmail.com
Reduce Cost -
-~
None of these -
-~
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Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Focusing on data warehouse delivery only often end up -
our correct option )
Success -
~
Good Stable Product ~
C
None of these -
(\
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Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Investing years in architecture and forgetting the primary purpose of solving business problems, results in inefficient application. This is the example of mistake. -

Pitfall: Extremes of Tech. Arch. Design
Common mistake: Attacking the problem from two extremes, neither is correct.

Answer ( Please select your correct option )

Extreme Technology Design

C & Focusing on data warehouse delivery, architecture feels like a distraction
and impediment to progress and often end up rebuilding.

Extreme Architecture Design
@ Investing vears in architecture, forgetting primary purpose is to solve

£ business problems. not to address any plausible (and not so plausible)
technical challenge.
None of these =

p
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Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) BI
Pakistan is one of the five major countries in the world. -

Answer ( Please select your correct option )

118:00

Time Left
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Cotton-growin -
Correct answer solved by hadi
'® Cell N0:03228043306
Email: usmanraj20@gmail.com
Rice-growing -
-~
Weapon Producing -
(o
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Question No : 26 of 52

Marks: 1 (Budgeted Time 1 Min) BI

division is cotton hub of Punjab.

EN

=

Answer ( Please select your correct option )

Lahore -
p
Faisalabad ~
o
‘
s Multan division is the cotton hub of Punjab. which consists of district Multan.
Bahawalpur -
F

Time Left
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Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) BI 5

=

1S a systematic field sampling process that provide field specific information on pest pressure and crop injury.

Pest scouting is a .systematic field sampling process that provide field specific information ‘
on pest pressure and crop injury.

dill ka kaya kere

sahib

Answer ( Please select your correct option )

Correct answer solved by

hadi
Cell N0:03228043306 =
Fmaitnsmanraj?t
Soil Survey @gmail.com -
PR
Seed Survey ~
C
Viater Survey -
(\
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Question No : 28 of 52

Marks: 1 (Budgeted Time 1 Min) BI

The growth of master files and magnetic tapes exploded around the mid-

EN

=

Answer ( Please select your correct option )

1950s. -
=

1960s. -

1970s. -
C

1980s. -
A

Start Time: 529 PM

118:00 ()

Time Left
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Question No : 29 of 52

Marks: 1 (Budgeted Time 1 Min) BI

Redundancy causes anomalies

=

=l

Answer ( Please select your correct option )

Update Correct answer solved by hadi -
Cell N0:03228043306
Email: usmanraj20@gmail.com
Select -
-~
Both Update & Select ~
®
None of these -
~

Start Time: 529 PM

118:00 (T
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Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Modification anomalies occurin form ~
Answer ( Please select your correct option )
2NF 99.99999999999999999% +Error term sure but not 100% . -
mint it...
3NF =
-~
BCNF ~
C
TNF -
~
Start Time: 529 PM En ; s
118:00 i3 ‘ - LY e
= \ o N ,.
Time Left | Ry ‘ o {. ] "$

S TS SRS

|paper.aspx



/7 YU Examination System (CLIENT) YUTES 6.5 :::... Fall 2012 (FinalTerm) ...::: - Windows Internet Explorer _ = ||5’|ll

@—:—\/r v |g http:/flocalhost/YUTES/client/Instructions. aspx :_I WA | #9 || X ,w Live Search P

File Edit Yiew Favorites Tools Help

¢ Favorites | 533 @ Suggested Sites » @ | Web Slice Gallery ~
88' 'I (€ Examination o X I I - v [ s v Page~ Safety v Tooks v @~
Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
If we remove the modification anomalies the table comes in form ~
Answer ( Please select your correct option )
TNF 99 99999999999999999% +Error term sure but not 100% .
mint it...
2NF ~
F
- 100% true option a is wrong
4MNF <
(\
Start Time: 529 PM
Time Lefi 0
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Question No : 32 of 52

Marks: 1 (Budgeted Time 1 Min) BI =

Data Transformation Services (DTS) provide a set of
supported by DTS connectivity.

that lets you extract, transform, and consolidate data from disparate sources into single or multiple destinations —

lpaper.aspx

Answer ( Please select your correct option )
Microsoft® SQL Server™ 2000 Data Transformation Services (DTS) is a set of graphical Correct answer solved by hadi -
tools and programmable objects that allow you extract, transform. and consolidate data Cell No:03228043306
C from disparate sources mnto single or multiple destinations. Email: usmanraj20@gmail.com
Documentations =
o
Guidelines S
F
[ Start Time. 529 PM 2 \
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Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Min)

&) &

Data Transformation Services (DTS) provide a set of tools that lets you extract, transform, and consolidate data from disparate sources into

supported by —

DTS connectivity.

Microsoft® SQL Server™ 2000 Data Transformation Services (DTS) is a set of graphical
tools and programmable objects that allow vou extract, transform. and consolidate data
from disparate sources into single or multiple destinations.

Answer ( Please select your correct option )

Single Destination

Multiple Destinations

Single or Multiple Destinations

Start Time: 5:28 PM

118:00

Time Left
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Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) El =
Execution can be completed successfully or it may be stopped due to some error. In case of successful completion of execution all the transactions will be -
Execution can be completed successfully or it may be stopped and roll backed due to
some error. In case of successful completion of execution all the transactions will be ‘

committed to the database otherwise, if some error occurs. execution will be terminated
abnormally and all transactions will be rolled back.

Answer ( Please select your correct option )

Committed to the database -

. . ) Correct answer solved by hadi
- In case of successful completion of execution all the transactions will be Cell N0o:03228043306

committed to the database Email: usmanraj20@gmail.com

Rolled back -

Start Time: 5:29 PM
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Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

Execution can be completed successfully or it may be stopped due to some error. If some error occurs, execution will be terminated abnormally and all transactions will be =

Execution can be completed successfully or it may be stopped and roll backed due to
some error. In case of successful completion of execution all the transactions will be
committed to the database otherwise, if some error occurs, execution will be terminated
abnormally and all transactions will be rolled back.

Answer ( Please select your correct option )

Committed to the database

Rolled back -

(&

Start Time_ 5 29 P
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Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
To identify the degree of transformation required we need to perform ~
To identify the degree of transformation
required we need to perform data profiling. ‘
Answer ( Please select your correct option )
Correct answer solved by hadi a
Cell N0:03228043306
Email: usmanraj20@gmail.com
Data Anomaly Detection -
p
Data Cleansing ~
®
None of The Given -
(\

Start Time. 5
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Time Left
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Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
To identify the required we need to perform data profiling -

Answer ( Please select your correct option )

Degree of Transformation -

Complexity -
~

Cost -
®

Time -
~

Start Time: 529 PM

118:00 ()
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Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min) BI

If the dates are missing we must need to consult

=

=l

Answer ( Please select your correct option )

Golden Cop Correct answer solved by hadi =
" Cell N0:03228043306
Email: usmanraj20@gmail.com

Default System Date -
-~

Silver Copy ~
®

None of the given -
(\

Start Time: 529 PM

118:00 (T
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Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
In ROLAP access to information is provided via relational database using standard SQL. -
Answer case select your correct option )
100% correct option b is incorrect >
(‘0
‘
D w.r.t concpet..!
Oracle ~
S
SAP -
(\
Start Time: 5:29 PM
118:00 gy ~,
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Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min)

¥which of the following statement is true”? 1 PB is

Answer ( Please select your correct option )

How Much Data is that?

2%2 or 1012 bytes
pa

1 MB [2% or 10° bytes Small novel — 31/2 Disk
1 GB 2% or 10° bytes Paper rims that could fill the back of a pickup

Van

1 TB

2% or 10" bytes

50,000 trees chopped and converted into

2%0 or 1010 bytes

1 PB =27 or 10" bytes

1EB=2%0or10" bytes

Academic research libraries across the U.S.

All words ever spoken by human beings

=

]

Correct answer solved by hadi
Cell N0:03228043306

Email: usmanraj20@gmail.com

298 or 1012 bytes
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Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

=

Normalized design is likely to perform much faster than de-normalized design for queries that probe
normalized design is likely to perform many times faster as
compared to the denormalized design for queries that probe the master table alone, rather ‘
than those that perform a join between the master and the detail table

Qur correct option )
Master table only Correct answer solved by hadi =
Cell N0:03228043306
Email: usmanraj20@gmail.com
Detail tables only =
-~
Both master and detail tables -
-~
[ Start Time_ 1 23 PM
Time Left u*' e {. n-.J : ‘ ’i) "')

JBR - I-|-‘ '~> '. !- -' by | :- "
z-i: ...u« 0% et &iﬁ S o

lpaper.aspx



/f ¥U Examination System (CLIENT) YUTES 6.5 ::... Fall 2012 (FinalTerm) ...::: - Windows Internet Explorer ] = |I5’|_)_<_|

@-:\/f v |g http:/flocalhost/YUTES/client/Instructions. aspx :] @, 9 || X ,*’ Live Search R

File Edit Yiew Favorites Tools Help

¢ Favorites | 53 @ Suggested Sites @ | Web Slice Gallery ~

@ v Examination System (CLIENT) YUTES 6.5 :::... Fall... I | fa - B) - (] v Page~ Safety~ Toos~ @-
Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) BI 5
Partition elimination is not possible with Round-robin spreads data evenly across the partitions, but does not facilitate partition =
elimination (for the same reasons that hashing does not facilitate partition elimination).
Round-robin is typicallv used only for temporary tables where partition elimination is not ‘

important and co-location of the table with other tables is not expected to yield

performance benefits (hashing allows for co-location. but round-robin does not). Roundrobin

is the “cheapest™ partitioning algorithm that guarantees an even distribution of

workload across the table partition T

Answer ( Please select your correct option )

Round-Robin Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com

De-normalization

Normalization

[ Start Time. 1 23 PM

117:00
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Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) BI =

ER is a logical design technigue that seeks to remove the

In data.

EN

Answer ( Please select your correct option )

Redundancy ER is a logical design technique that seeks to remove the redundancy in data

Normalization =
~

Anomalies .
~
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Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min)

B

|| Merging information is one of the major types of

Merging of Information: This is not quite the opposite of splitting of single fields. This
type of data transformation does not literally mean the merging of several fields to create
a single field of data. For example, information about a product may come from different
data sources. The product Code and description may come from one data source. The
relevant package tvpes may be found in another data source. The cost data may be from
vet another source. In this case, merging of information denotes the combination of the
product code, description, package tvpes, and cost into a single entity.

EN

=l

orrect option )

still not sure

Extraction

Loading .

MNone of these

Start Time: 1:23 PM
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Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
The goal of IS to look at as few blocks as possible to find the matching records(s). -

Answer ( Please select your correct option )

’ Indexing Correct answer solved by hadi
- . Cell N0:03228043306
Email: usmanraj20@gmail.com
Partitioning -
(\
Joining =
(o

[ Start Time_ 1 23 P
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Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
If every key in the data file is represented in the index file then index is -
Answer ( Please select your correct option )
‘
Sparse Index -
-~
Inverted Index -
C
None of these -
(\
Start Time. 1:23 PM
Time Left 0
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Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min) BI =

 Iffits into memory, costs only one disk /O access to locate a record by given key.

=

Answer ( Please select your correct option )

A Dense Index Correct answer solved by hadi -
Cell N0:03228043306
Email: usmanraj20@gmail.com
A Sparse Index -
p
An Inverted Index -
®
None of These -
p
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Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
A dense indey, if fits into memonry, costs only disk IfO access to locate a record by given key. -

Answer ( Please select your correct option )

Two ~
=

g {n) -
'

n -
(\
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Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
means meeting customer's needs, not necessarily exceeding them. ~
Answer ( Please select your correct option )
Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com =
Marketing =
-
DSS -
®
OLAP -
(\
Start Time: 1:23 PM 10 1 T
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Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min)

The purpose of the House of Quality technique is to reduce

types of risk.

The purpose of the technique is to reduce two types of risk. First, the risk that the
product

specification does not comply with the wants of the predetermined target group of
customers. Secondly, the risk that the final product does not comply with the product
specification.

EN

=l

Answer ( Please select your correct option )

Two

Three

Four

All

Start Time: 123 PM
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Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Parallelism can system performance on over-utilized systems or systemns with small YO bandwidth. ~

Answer ( Please select your correct option )

Correct answer solved by hadi -
Reduce Cell N0o:03228043306
Email: usmanraj20@gmail.com
Enhance =
p
Maintain -
©
Boost -
(\

>
M
fllsll‘f \‘ o {.'\) \:\‘ : ' -

Start Time: 123 PM M2 1

117:00 (T

Time Left

lpaper.aspx



/f YU Examination System (CLIENT) YUTES 6.5 ::... Fall 2012 (FinalTerm)

=8| x|

@—n:r v |g http:/flocalhost/YUTES/client/Instructions. aspx _"_I @, 9| X )’ Live Search

File Edit Yiew Favorites Tools Help

.7 Favorites ‘ 9= & Suggested Sites v @ | Web Slice Gallery -

@ VU Examination System (CLIENT) YUTES 6.5 :::... Fall... I I f v B) - [ o v Page~ Safety~ Tools~ @~
Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Data dependencies between different phases of computation introduce synchronization requirements that force execution. -

Data dependencies between different phases of computation mtroduce synchronization
requirements that force sequential execution

Answer ( Please select your correct option )

Sequential
~

Parallel

Analogous

Interactive Parallel
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Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) BI 5

=

There are many variants of the traditional nested-loop join. Vwhen the entire table is scanned it is called

There are many variants of the traditional nested-loop join. The simplest case is when an ‘
entire table is scanned; this is called a naive nested-loop join.

Answer ( Please select your correct option )

Naive nested-loop join ' Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com

Index nested-loop join

Temporary index nested-loop join

MNone of these
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Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

Data mining is afan

approach, where browsing through data using data mining techniques may reveal something that might be of interest to the user as —

iInformation that was unknown previously.

Please seltww

our correct option )

Exploratory

MNon-Exploratory

Computer Science
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Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Data mining uses algorithms to discover patterns and regularities in data. -

er ( Please select yWur correct option )
Statistical Correct answer solved by hadi =
Cell N0:03228043306
Email: usmanraj20@gmail.com
Mathematical =
-~
Computational =
-~
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Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) BI
As opposed to the outcome of classification, estimation deal with valued outcome. -

=l

Answer ( Please select your correct option )

i

Continuous =
p

Discrete ~
p

Isolated =
'®

Distinct -
p
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Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

=

IS the technigue in which existing heterogeneous segments are reshuffled, relocated into homogeneous segments.

&t your correct option )
Clustering Correct answer solved by hadi =
Cell No:03228043306
Email: usmanraj20@gmail.com
Aggregation -
~
Segmentation ~
®
Partitioning -
p
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Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Majority of data warehouse projects fail due to the complexity of the -
Answer ( Please select your correct option )
Development Process -
p
Analytical Process of Cube -
-~
Query Complexity -
C
i Indexing Complexity o
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Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Implementing a data warehouse requires integrated activities. -

Answer ( Please select your correct option )

T ghtly Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com =
Loosely -
o
Slackly ~
®
Lethargically -
(\

>
M
fllsll‘f \‘ o {.'\) \:\‘ : ' -
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Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
In DVWH project, it is assured that environment is similar to the production environment ~
-

Answer ( Please select your correct option )
Designing -
(N
Development -
Analysis ~
®
Implementation -
(\
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Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
For a DVWH project, the key requirement are and product experience. -

Answer ( Please select your correct option )

Tools
(‘0

Industry Correct answer solved by hadi 2
a Cell N0:03228043306

Email: usmanraj20@gmail.com

Software -
'S

None of these -
A

>
M
fllsll‘f \‘ o {.'\) \:\‘ : ' -
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Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
The application development quality-assurance activities cannot be completed until the data is -
Identified >
~
Finalized -
®
Computerized -
(\
Start Time. 1:23 PM
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Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

=

Many data warehouse project teams waste enormous amounts of time searching in vain for a

Answer ( Please select your correct option )

i Correct answer solved by hadi —
=INSEEUlSE Cell N0:03228043306
Email: usmanraj20@gmail.com
Golden Bullet .
p
Suitable Hardware -
©
Compatible Product -
(\

>
M
fllsll‘f \‘ o {.'\) \:\‘ : ' -
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Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

One needs to slot the alternative tools into categories that allow for meaningful comparison in order to

Please select your

Evaluate Tools -

Reduce Cost -
~

None of these -
o
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Question No : 26 of 52

Marks: 1 (Budgeted Time 1 Min)

Investing years in architecture and forgetting the primary purpose of solving business problems, results in inefficient application. This is the example of

Pitfall: Extremes of Tech. Arch. Design

Common mistake: Attacking the problem from two extremes, neither is
correct.

mistake.

EN

=l

Answer ( Please select your correct option )

Extreme Technology Design O Focusing on data warehouse delivery, architecture feels like a distraction =
and impediment to progress and often end up rebuilding.
@ O Investing years in architecture, forgetting primary purpose is to solve
business problems, not to address any plausible (and not so plausible)
technical challenge. v
Extrerme Architecture Design ~
-~
MNone of these not sure :p =~
~
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Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min) BI =

Pakistan is one of the five major

countries in the world.

EN

Answer ( Please gelect your correct option )

Cotton-growing -

~
Rice-growing -

~
Weapon Producing -

o
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Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
division is cotton hub of Punjab. -

Answer ( Please select your correct option )

Lahore -
p

Faisalabad =
P

Multan Correct answer solved by hadi

Cell No:03228043306
Email: usmanraj20@gmail.com

Bahawalpur

>
M
fllsll‘f \‘ o {.'\) \:\‘ : ' -
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Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

EN

IS a process which involves gathering of information about column through execution of certain queries with intention to identify erroneous records.

Answer ( Please select your correct option )

'Data profiling =

~
Data Anomaly Detection -

~
Record Duplicate Detection ~

C
None of these -

~
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Question No : 30 of 52

Marks: 1 (Budgeted Time 1 Min)

Relational databases allow you to navigate the data in

that is appropriate using the primary, foreign key structure within the data model.

dakh mgr pye de

=

=l

Answer ( Please select your correct option )

Only One Direction
pa

oo 2

Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com

Two Direction

MNone of these
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Question No : 31 of 52

Marks: 1 (Budgeted Time 1 Min) BI

In systemn, the contents change with time.

EN

=

Answer ( Please select your correct option )

ATM

OLAP
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Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Primary key is repeated in splitting -

baby ko base

pasand hi
Answer ( Please select your correct option )
Horizontal -
C
Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com
C
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Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

Data Transformation Services (DTS) provide a set of tools that lets you extract, transform, and consolidate data from disparate sources into

DTS connectivity.

supported by —

Answer ( Please select your correct option )

Single Destination

Multiple Destinations

Single or Multiple Destinations
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Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

If some error occurs, execution will be terminated abnormally and all transactions will be rolled back. In this case when we will access the database we will find it in the state that =
was before the

Answer ( Please select your correct option )
Execution of paCkage Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com
Creation of package -
-~
Connection of package -
(0
[ Start Time_ 1 23 PM Ga ) N
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Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
Execution can be completed successfully or it may be stopped due to some error. If some error occurs,execution will be terminated abnormally and all transactions will be =
Answer ( Please select your correct option )
Committed to the database -
e
Rolled back -
e
Start Time_1 23 P
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Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) BI =

=

To identify the degree of transformation required we need to perform

Answer ( Please select your correct option )
- I Data Profllmg Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com =
Data Anomaly Detection -
-
Data Cleansing ~
®
None of The Given -
(\
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Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
To identify the required we need to perform data profiling -

Answer ( Please select your correct option )

Degree of Transformation -

Complexity -
~

Cost -
®

Time -
~
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Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) BI 5

=

To judge effectiveness we perform data profiling twice.

Answer ( Please select your correct option )

One before Extraction and the other after Extraction
'S

One before Transformation and the other after Transformation Correct answer solved by hadi -

Cell N0:03228043306

C Email: usmanraj20@gmail.com
One before Loading and the other after Loading ~
.
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Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) BI
If the dates are missing we must need to consult -
mere karan arjun aayenge :P

=l

Golden COpy Correct answer solved by hadi
Cell N0:03228043306
Email: usmanraj20@gmail.com =
Default System Date -
~
Silver Copy ~
@
None of the given -
(\
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Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
It is observed that every year the amount of data recorded in an organization ~

Answer ( Please select your correct option )

Cowes 2 ‘

Triples & -
p

Quartiles -
®

Remains same as previous year -
(\
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